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Note: e ) &
1} Auempting all MCQs is compulsory. “This paper nlong with the OMR sheet must be returned to the superintendent after due time.
2) Fill the circle YEEXE), which one is correct with blue or black ball poing, in this sheet as well as in scperate OMR Sheet like @@
3 If mare than one circle in the OMR sheet s filled then no credit will be given Lo such answer.

{, In RLC series AC circuit 1" and ¥ are .

® OQut of phase by 360" Out of Phuse by 90 @ Out of phase by 180° @  Inphase

2, When c'harge partical enter perpéndiculur to megnetic field, the path followed by it is .
® Ahelix @ Acircle © Straight line ® Ellipse
3. During experiment the function of galvana meter is ph(mo electric effect is to ____current.
® controle increase ~ © decrease ® detect
4. Mass equivalent of 931 MeV energy is . :
@ 6o2x10g - @ 1766x107ky © 267x107kg ® 6.02x107ky
5. The phase dilference between the current and voltage at resinance is .
® 0 r © - x/2
6. The 51 unit of Electric ficld intensity is . _ ‘
€y Coulomb per meter Joulper meter - ©  Coulomb per Second@  Volt per meter
7. Inject printer works oti the principle of e .
& Gauss’s law ‘Ohm'slaw,. @ . Electrostatics - ® Faraday’s law
8. In choke coil the reactance X, andresistance Rare ooy
® x=R X, R @ x,wr ® x,=w
9. The positron has charge which is in magnitude equal fo the charge.on o o
® Eleewron Proton’ © pparticle @ Al
1. Whicholthe lhlluﬁ'ing remains constant in step-up transformer?
® Vvoliage Current @® Power © Heat
11, When a wire is stretehed and its radius become #/2, then its resistance will be .
® IR xzm @ ® o
12, Il both the length and radius of the rod are doubled, then the modulus of @asticity-will
® increase @ decrease @ doubled ®© remains the same
t3.  The Atomic model based on classical as well as plank's quantumn theory was developed .
® Ruther ford ® Thomson ® Max-Plank ® Bohr
14, A wirg is stretched to double of its length, the strain is: — . '
2 ' ¢ © azero. 0.5
15, | wshvisequalto
® 10 Cous X 107 Gy 2% 107 2% 10
16.  The drift velocity of free electron is of the order of .
I 10%ms™!

©
@ 10 s - 10 ™ T @ 10 ms™!
17.  ‘The depletion region has: .
@ Neither holes nor elecirans Holes only ©
18 The encrgy of-¢lectron in the exited state w=4 is:

® «13.6ev -3 4ev @ -0.85¢v

Electrons only Both holes & slectrons

® ® ® ©

-1.5ev
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‘Note: Time allﬂwcd f(rr section B and C is 2 hours and 40 minutces.
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SECTION L ' - Marks: 40
'Atttmpt any TLN Parts gut of the following. Each Parl carries equal marks

“What is the difference between Volt und Electron Valt {ev) and how they are related w:th each other?

What is an equipotential line and equlpmentlal surface?
What ls__ﬁ_s,tcady current? s it Matter, Energy or Both?

How does a current carrying coil behave like a bar magnet?
l{-'dw Llecl.tmmd;,netic brake works? Explain,

) F‘rt)ve that the average power dissipated in resistance R over ong complcte cycle is P=Voms Lrms

What is the stress-strain curve and define-the plasnc deformation?
What are the majority charge carrier inNPN and PNP Transistors?
Briefly describe Pair Production?
' Write the general Mathematical form of Balmer, - Lyman, Pashen and Bracl1elt series,

What factors make a fusion reaction difficult to achieve. -

Differentiate betwecn memal frame of reference and non-inertial trame of reference

What is thumoeluctuc m[ and Seebeck Effect?

SECTION*C” : ' Marks: 27

Note: Attempt any THREE questions of the following. Each guestion carries equal Marks.

1L

Iv.

Vi

(a),
- (b)

(a)

(b}

. What is th¢ galvanometer and how it is convéited into Ammeter and Volt meter?

State and Explain Coulomb’s Law. Do include the case whet the.charge is placed in dielectrics.

A Melallic sphere of diameter 40 cin carries a charge of 600 ¢ C. Find the Electric field intensity at;

(i) A distance of 1.5 cm from the centre of the sphere and  (ii)  at the surface of the sf;here.

ar

A wite cu&ying_ 5A current and has length of 10 cm between the poles of a magnet is kept at an

angle of 60° Lo the uniform field of 0.6 T. Find the force acting on't__he, Wirﬁ?
State and Explain Nuclear fusion reaction for both the cycles.

A parlicle of mass 5.0 mg moves with speed af 8 ms~!. Calculaté de Broglle wavelcngth

What are the main feature of Photoeelectric effects? Discuss the failure of classical physics az;d

S

success of photon concept in explaining this effect

Ihe tempetature of human body is 35°C . Then what is “ 4, " for whicl the radiation is emitted.
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